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Vote: Write answers to the questions on the objective answer sheet provided. Four possible answers

are given. Which answer you consider correct fill the corresponding circle A,B,C or D in
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How many traits Mendel studied in pea plant?
4 3 B 5 © 7 ® 9
Source of variations is? : Yy
(A) Mutations e B) Transcrip%gg Jip L2
% P

(C)  Translation ‘?_.u 2 (D)  Fragmeptatio

Example of primary consumer is :
(A) Deer oz (B) Snake - (C) Lion

Carnivorous plants are:
(A)  Predators Ipky _ Parasites
(C)  Herbivores s sDecomposers
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The enzyme used to dissolve blood cl ) s x . wizfionss
(A)  Urokinase | Yy
(C)  Thymosin . a - in o ity
The drug used to reduce pa 4 T Setidisi S s
(A)  Antiseptic T ; %
© oS (D)  Antibiotics Nl
- VTN NN R
A) (C) ATP (D) NADP
Halophytes .2 S
(A) sea L {C) pond -t (D) canal . s
Which organ main; by? t e U5 FE b SIS
(A) Stomach ¥ (C) Liver y4 (D) Heart U
‘Which bones enclose the ? ARl I NS
(A) Pelvic girdle 5/f% (B) Pectoral girdle 3/Js% (C) Ribs Y2 (D) Cranial bones 3y f
Cyst is formed in? te Gt s
(A) Amoeba e (B) Yeast e (C) Planaria (/% (D) Hydra L4
External fertilization occurs in? !‘?Gnu.' SRS 1

(A) Mammals #*  (B) Reptiles F, (C) Birds wsiy (D) Fishes U
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Attempt any five parts of the question. (2x5=10) LSfingeds 2

@
(ii)
(iii)
@iv)
2]

What is meant by gaseous exchange? Sl e el (i)
Is it true that trachea remains always open, if yes, then why? eI tGuF ﬁyfjfgé‘ LA (i)
Write four symptoms of Asthma. & Ao dgf(Asthma)..s  (iii)
Write the names of three main steps of urine formation. .ol AL S pA1f £ & (uring) 2 (iv)
What are the problems after kidney transplant? U Sl d gt L0 ()
Uzl fuF ot (vi)

(vi) What ate Schwann cells? Where these are found?
(vii) What is a brain stem? SV (Vi)
(viii) Differentiate between cranial and spinal nerves. = ki S g,me' S (viii)
Attempt any five parts of the question. (2x5=10) ESffngeds 3.
(i) Define locomotion. ¥ PP rdy (i)
(ii) Differentiate between compact bone and spongy bone. f,,,u,z..,g;f (i)
(iii) How does binary fission take place in bacterium? & i WAL 26 (i)
(iv) What s external fertilization? Give an example gAS A (iv)
(v) Name any four contrasting traits in pea plant Gillsd Jre sy L 5 (V)
(vi) Define translation. & " . i (vi)
(vii) Whatis difference between recessive allel e G Firmesing  (vid)
viii) What is meant by term_ Sl "Ly e (vidi)
. Attempt any five parts of the (2x5=10) ESngedd 4
(i) : AN U‘b"l/‘/.—'uk‘/:'u:”l/lﬁﬁg (@)
(i) __ WL Ll (i)
()] er bacteria. S OPRL s F el Sirrs A (iii)
(W) v -é L}@’?:‘;Jl /_l‘f c_,r}z,;{ (iv)
@ : ? ¥ | SR s (W)
(vi) How the sing dby yeastare better?  Srdwalid ik Srtige giles (vi)
Vi) What are synihgliBuigs? ety (vii)
“rii) Differentiate be : nd sedatives. O st S (viii)
_ s
(. Attempt any two questions frqm the following: (9x2=18) <3 L j-:-&f 2 =y c"; ,(‘_JJ- oty
a)  Describe osmoregulatory function of kidney. LIS S S ) s
1b)  What is meant by joint? Describe the types of joint with e urpiFre e featiz (L)
‘ examples, I
2 3)  Describe the structure of Hind Brain? U/ d‘./-—""'VJ«.i/.fe'T (ON3
R R v e
'Y
1)) Describe basic steps in genetic engineering. H S oL L /‘:..Gw o .7
, ) Define antibiotics and discuss their various types. G 3 f S, At (L)
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Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.
S B S ch}u‘le_,/’f,,ib'»an_f.,,s:'s(._,:zuu/,;jﬁ_&m.wiz__: DCBAAZ gLy 109
1.1 gli;g:i;gn I\;itxic:;ls established Intergovernmental Panel on e J:,«; Lol rioed 11
(A) 2010 (B) 2020 (€ 2021 (D) 2022
2. Ian Wilmut was belonged to: BFebaal 2
(A) India 2 (B) ScotLand tug  (C) Srilanka ¢, (D) America L,
3. } Penicillin was discovered by scientist: -GQ;VU' Eedtsl S u:l./‘f-r 3
(A)  Alexander Flemming Lk (B) X
(©) Ian Wilmut st T (D) Francis €
4. Mesophyll cell are found in: P
(A) Plants uny  (B) Animals Qs
5. Example of hydrophyte is: 5
(A) Water lily J#  (B) Grass U
6. The middle layer of human eye is\c d - 6
(A) Retina &, (B) S (C) Choroid %,
7. Osteoporosis disease is fQ - e 3&_ S Sagin 7
(A) Brain b (B i (O Lungs  gyemi(D)Kidneys  un/
8. Types of reproduetion f di iais: % . P PPy B
(A) i (B) Binary fission FEA
© (D)  Spore formation Chun
9. Inswe pagation is: -q--?l_)’b’u‘*-ﬁ*m;f&:&i”;ﬁdﬁ/é -9
(A) Gra # (C) Suckers ;4 (D) Cutting &
10. Number of chro body cells are: AP e S EELAW 0
@A) 46 (6 54 o 62
11. Model of DNA wasg scientist: Lo Ll JEMDNA 11
(A)  Gregor Mendel Jir£S (B)  Joseph Lister Pz
(C)  Alexander Flemming b5 (D) James Watson and Crick  f/oalePiy?
. 12. Example of ecto parasite is: esbenipt 2
(A) Plasmodium vt (B)  Ascaris v
(©) Mosquito A (D)  Ent amoeba etz
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2. Attempt any five parts of the question. (2x5=10) ZEffmgeds 2
(i) What are vocal cords? What is their function? \.‘.;_LIJ’" Ktk S ()
' (i) Differentiate between diaphragm and pleural membranes. N /J,.:&,,,sr: A (i)
(iii) Write two effects of smoking on teeth, - i gurn L S (i)
(iv) Distinguish between Osmoregulation and thermoregulation. LA L s (iv)
(v) Define excretion. LuJ5EA W
! (vi) Differentiate between sensory and motor neuron. & OSSNt st S A (Vi)
(vii) sD}:z:g%ush between sympathetic and parasympathetic nervous E 3 ‘;_,w/. .@“‘f%m ...tfﬁ"" (il
(viii) " Write the names of two hormones produced in ovaries. =24 (L'Lif;@:é..bé’.:.@tp;y (viii)

-&f Sz é&;é/ 3.
s S Pt ()
U:‘J.flzbkﬁu’lu.;’z:’:l ii

Attempt any five parts of the question. (2x5=10)
(i) Write definitions of origin and Insertion.
i) Write four reasons of osteoporosis.

iii) How plants reproducé through suckers?

(vi) Write characteristics of Watson - crick madel of DNA.
(vii) Differentiate between dominant and:.

~ iif)  Write two stages of organig:

Attempt any five parts of the*

PP R ez (Vi)
Ak LGt (i)
L ESnbeds s

(i) How smog is formed? e ol S (i)
(i) Define ecosy ; Sy g TN ()
(iii) Define mué . MJJL‘@{:-L[/.@;’J(%:,_» (iii)
(iv) What are , S L Emp k(W)
v) What aré aters’ . CRILE S e (v)
i'vi) Define recorribi: /S DNA e (i)
i) Whatis difference -6 ibiotics? e ST AG A (Vi)
viii) What is meant by s : , el e Py (i)
=1 ; (2.0

(e:  Attempt any two questions from the following: (9x2=18) LI f el iy ve §fe bt itumied
@ Soblmad oot o, L uaat Shsonrndr 08
B a‘(\r,lrt?étl)snir:t?ca giggna‘r;"t_?hg(t)&s&'i?p%p allar:";xample. F bt e erifen (0
-@)  Explain the structure of a Neuron? S/l () 6
(b)  Explain spermatogenesis with the help of diagram? LV RPN T T & ()

(@)  Wite four achievements of Genetic Engineering. ] ULVE | K L E, rcd e () 7
(b)  Write a note on vaccines and their mode of action. & ¢i4’4)£L/rK£ufj,fzf, ()
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